ĐÁP ÁN ANH 10 NGÀY 04/11/2017
MÃ ĐỀ THI 623
I. WORD FORMS:  (1 point)
1. unemployed	2. educated	3. proudly	4. scientists
II. PREPOSITIONS: (1.5 points) 
1. of	2. with	3. on	4. in	5. from	6. of
III. READING THE PASSAGE, AND ANSWER THE QUESTIONS: (2 points)
1.  Because their design is chiefly functional.
2.   Mobile robots are already used to carry out a large number of the distribution and assembly tasks.
3.  They ( Robots) will probably be used to do the cleaning, scrubbing and washing-up.
4.  No. / No, they aren’t. / No, human beings carry out research and produce plans for new products.
IV. TENSES OF VERBS: (2 points) 
1. was working	2. Did/ watch	3. has read	4. tells
5. is coming	6. agreed	7. had gone/ went	8. will finish
V. TURN INTO PASSIVE VOICE: (1,5 points) 
1. This bottle was broken by Peter.
2. His telephone number has been known. 
3 The dinner is prepared by her mother.
VI. USE “WHO/WHOM/WHICH” TO COMBINE EACH OF THE FOLLOWING SENTENCES: (2 points)
1 That is the girl whom I told you about.
2 Children like to eat ice-cream which can cause toothache.
3 He was sitting on a chair which was uncomfortable.
4 The young man who rides a expensive motorbike lives in the corner.
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I. WORD FORMS:  (1 point)
1. educated	2. scientists	3. proudly	4. unemployed
 II. PREPOSITIONS: (1.5 points) 
1. with	2. in	3. of	4. from	5. of	6. on
III. READING THE PASSAGE, AND ANSWER THE QUESTIONS: (2 points)
1.  They ( Robots) will probably be used to do the cleaning, scrubbing and washing-up.
2.  No. / No, they aren’t. / No, human beings carry out research and produce plans for new products.
3.   Mobile robots are already used to carry out a large number of the distribution and assembly tasks.
4.  Because their design is chiefly functional.
IV. TENSES OF VERBS: (2 points) 
1. Did/ watch	2. tells	3. is coming	4. will finish
5. agreed	6. was working	7. has read	8. had gone/ went
V. TURN INTO PASSIVE VOICE: (1,5 points) 
1. This bottle was broken by Peter.
2. The dinner is prepared by her mother.
[bookmark: _GoBack]3. His telephone number has been known. 
VI. USE “WHO/WHOM/WHICH” TO COMBINE EACH OF THE FOLLOWING SENTENCES: (2 points)
1. Children like to eat ice-cream which can cause toothache.
2. The young man who rides a expensive motorbike lives in the corner.
3. That is the girl whom I told you about.
4. He was sitting on a chair which was uncomfortable.
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